EARAROBREBRT —5 XN—ZXBISH—F

20224£1085H (K) 15OEME1H

2R

2RAEE YSR2R

\(9&1&1 n ‘I%EH?’JFQ] | & 1000 =

[AE%] 1 7% :2,500,000 § ~ 23&:1,000,000 M / 3&:

625,000 43%&:375,000

5 7& 1 250,000 M4

B %S RS M ML BF (FB) |94L (EZ) | @BIRG | k3F |SEH | AK | #F | A6 FE) / BE / £ES
111111Z70OU7 k=0 o2 B 1:(34).3 2-2-1-1 [40.0| — | 1 | 489 ggéﬁ Z(Eﬂﬁ)
Riko¥TO-U— B:I-YYTAL—K ) | Sewis
1y SRES :35. -3-3- . - I|R¥E (B
YL it 2 54{%% 24 1 (375) 4 3-3-3-3 | 40.8 2 (430) 15%:%)&356(5%3\)_2757
R:IZAPOVIUI—Y B:RYIRI—FvY BHER Y Y R
1)~ ik : -1-2- - T
vy 2 53%*& 1.(356).2 1-1-2-2 41,9 4 (415; gg&%a&)
RIIZRT—YF— BIXE—TIRb ]
3 N = IR 2 -4-4-. - 5
YIWIN—=F v 2 IR 1.(38.4 3-4-4-4 | 41.5 3 (456) %@%ﬁ (@)
R:ZTvF—0OFvb B:YIN-ZU—T SRzt IRZ
I=E=3 . e e _ ERE
T7AVA1— o2 BUR (15;34945) 5-5-5-5 | 44.4 5 :133) M(E)Eiu(%?)
RiT7AV=Z—NIL B:SZATNVE HNE &S
® I—J—@BIELL
13—3F— |3.1.2,5.4
20—F— |[3,1,2,5.4
30—373— |[1,3,2,5,4
43—373— |(1,3,2,5,4
@ ILRE
B B 1 200 | | DA R 1-2 150 | | /5 & 1-2 280M | | 3:=8 1-2-3 350M
& B 1 100M 1-3 1701 | | /5 & 1-2 500/9 | | & 1-2-3 1,060/
2 140H 2-3 230MH

ABIC OV TRUTEREERRODDZE. THRIIZEL.




